1. Given: Zland £2 are complementary |
BD bisects ZABC

Prove: mL2 =45°
Statements

Zland 22 are complementary
mLl+mZ2 =90°

BD bisects ZABC

Ll= L2

msl=ms/2

ms2+ms2=90°

2(m£2) =90°

m/2 = 45°

2 Given: XY = ZW : X

Prove: XZ = YW
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2 ped+mess5 17D

3. m<4+m<5= m§4 + m<6

4, m<5 = m<6

4. Given: V is the midpoint of SW, and W is the midpoint of VT

Prove: SV = WT
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1.V is the midpoint of SW
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2. \0) 15 e yniggovet of VT

2. Given

3. gy & VW

| 3. Definition of Midpoint

+ Jw = 0T

: ,S;W'ss: WT
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2 Zf =27

3. <B=<C

4. AABE & ADEE

6. Given: AB || CD

Prove: AABE & ACDE &
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2. 4510(6 5 <C 2. Corresponding angles theorem
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4.AABE @& ACDE 4. VAFPV '

7.  Given: AB|CD,AB=CD
Prove: AABC = ADCB
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Given: TRbisects ZSTU and /S = /U
Prove: UR = SR
Statenen PeasonS
T bisecks ¢STU | Gae)
S =L Gt
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9. Given: TV L RS; RT=ST
Prove: ZRTV = ASTV
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10. Given: BC|| DA,BC=DA, <D = LB

Prove: ABCD is a paralielogram
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